## **SECTION VI - COST PROPOSAL PAGE**

**Proposer Name:** 

C&M KANDSCAPING INC

Proposer agrees to supply the products and services at the prices bid below in accordance with the terms, conditions and specifications contained in this RFP.

Cost to the City: Contractor must quote firm, fixed, costs for all services/products identified in this request for proposal. These firm fixed costs for the project include any costs for travel and miscellaneous expenses. No other costs will be accepted.

ltem Number	Description of Locations	# of Services Annually	U/M	Unit Price	Total
1	City Hall, 100 N. Andrews Ave & east parking lot - Andrews & NE 1	21	Service	\$S0.83	1,050
2	North Federal Highway, medians from Broward Blvd to US1/Sunrise Blvd. Interchange (includes median and ROW)	26	Service	\$ 125.02	3,250
3	Hedge trim Item 2	9	Service	\$50.00	\$450.00
4	Sistrunk Blvd (NE 6 St) from Andrews Ave to US1 – Hedge Service, median and swale (north and south sides of the street)	9	Service	\$250.00	\$ 2, 250.00
5	North Federal Highway, medians from US1/Sunrise Blvd. Interchange (includes median and ROW on N. side) to Oakland Park Blvd.	26	Service	*175.e	¥4,550 12
6	Hedge trim Item 5	9	Service	7150.00	¥ 1,350.00
7	North Federal Highway, medians from Oakland Park Blvd. to NE 65 Street /Port Royale	26	Service	\$400.00	±10,400.∞
8	Hedge trim Item 7	9	Service	\$ 200.2	41,800. 5
9	NE 4th Avenue medians from Sunrise Blvd. to South Middle River (NE 18 St)	21	Service	\$10000	₹,2100 <sup>.199</sup>
10	Hedge trim Item 9	9	Service	\$100.00	\$900.~ <u>~</u>
11	NE 9 St., medians and ROW triangles from Middle River Dr to NE 26 Ave	21	Service	\$50.00	\$1,050.00
12	Hedge trim Item 11	9	Service	\$100.39	* 900·32

.

.

.

.

13	NE 13 Street, medians from Andrews Ave – Federal Hwy	21	Service	\$125 <sup>4</sup>	¥ 2,625.02
14	NE 15 Ave, medians from NE 13 St to NE 20 St includes roundabout and swale areas around roundabout	21	Service		\$ 2,625.00
15	Hedge trim Item 14	9	Service	\$75.00	4675.00
16	Oakland Park Blvd, medians, parking ROWS, & Bridge (4 sides) from NE 21Terr to AIA (including Intracoastal Waterway SE Bridge seawall at NE 31 St ramp and Oakland & A1A Parking Lot @ NW corner (Miles Corner/Walgreen's Lot)	26	Service		\$7,800·°
17	Hedge trim Item 16	9	Service	\$250°E	\$ 2,250.0 <u>2</u>
18	NE 26 Avenue, medians from NE 47 St to NE 49 St	21	Service	\$50.00	\$1,050.00
19	Commercial Blvd, medians, parking ROWS, & bridge west side, from Dixie Hwy to Dupont Blvd @ Bridge (west side)	26	Service	\$506	413,000.**
20	Hedge Trim Item 19	9	Service	400.00	\$ 3,600.00
21	NE 18 Ave, medians from NE 50 St to NE 65 St	26	Service	\$75. <sup>**</sup>	\$1,950-0
22	Hedge Trim Item 21	9	Service	\$125 <sup>.4</sup>	\$ 1,125,00
23	Landings Entranceway - medians, entranceway, & bridge ROWS - NE 55 St, from US 1 to Bayview Dr (including swale behind wall on north end of entrance)	21	Service	\$Zct.~~	\$4200 - 44
24	Hedge trim (Landings Entrance from US1 to NE 26 Avenue)	9	Service	\$150.°°	\$ 1, 350. <u>00</u>
25	Bayview Drive & Bay Colony ROW, medians & ROW; Bayview Dr & NE 59 St Bridge ROW 4 sides; and NE 51 St Bridge on NW side - NE 51 St to US 1/Fed Hwy	21	Service	\$ 150 <sup>.0</sup>	\$ 3,150.0 <u>c</u>
26	Hedge trim Item 25	9	Service	75.0	\$ 675.00
27	Bayview Dr., medians from Sunrise Blvd to NE 12 St	21	Service	\$25.2	
28	Hedge trim Item 27	9	Service	\$ 30.00	\$ 270.99
29	Imperial Point Entranceway & Imperial Point Drive, 5900 N Federal Hwy - Entry & medians - N Federal Hwy to NE 21 Lane	21	Service	\$150 <sup>.%</sup>	\$ 3, 150·2
30	Hedge trim Item 29	9	Service	150.52	\$1,350.00
31	Cypress Creek Road/NE 62 St; medians, North & South ROWs, from Andrews Ave to NE 7 Ave including	26	Service	\$150.0	,

,

•

	the SE corner at NE 7 Avenue				
32	Hedge trim Item 31	9	Service	\$1750	\$1,575.2
33	NE 62 St, Medians from NE 18 Ave to Dixie Hwy	26	Service	75.2	\$ 1,950.22
34	Hedge trim Item 33	9	Service	\$502	\$ 450.00
35	N Dixie Hwy, Median north of NE 62 St to City Limit	21	Service	\$25.5	\$ 525.00
36	A1A/N. Ocean Blvd, medians from Flamingo Ave/ NE 42 St to NE 20 St	26	Service	\$250 <sup>.09</sup>	\$6,500.00
37	Hedge trim Item 36	9	Service	\$300.00	\$ 2700 '00
38	NE 15 Ave medians from NE 4 Court to NE 6 Street	21	Service	\$35.50	\$7.25 <sup>.45</sup>
39	Hedge trim Item 38	9	Service	\$20-2	\$180.00
40	NE 11 St, swale on south side from 2449 NE 11 St to Seminole Dr.and on NE 25 Ave west side from NE 11 St to Sunrise Blvd at parking meters	21	Service	\$25. <u>4</u>	\$ 525.5
41	Bayview Drive, canal-ends on east side of Bayview Dr between NE 18 St – 17 St, NE 17 St – 16 St, NE 16 St – 15 St and NE 15 – 14 St.	21	Service	\$60.5	\$1,260-92
42	Triangle ROWS at SE corner of NE 28 Ave & Bayview Dr & NW corner of NE 24 St and Bayview Dr.	21	Service	\$20.46	\$420.00
43	Bermuda Riviera, swale along east side of NE 34 Ave between fence and road and NE 36 St - Flamingo Avenue. Leaf removal each service. Clearing of all leaves regardless of origin, swale along east side of NE 34 Ave between fence and road and NE 36 St - Flamingo Avenue	21	Service	\$ 425 <sup>.42</sup>	\$ 8,925 <sup>.02</sup>
44	NE 34 Ave at Fort Royale and Castle Harbor Bridge areas	21	Service	\$ 20.4	≠420·☆
45	Lake Estates/NE 27 Ave ROWs & plant-beds, ROWs on north & south sides of NE 57 St from Federal Hwy to NE 27 Ave, and North & South sides of NE 59 St from Federal Hwy to NE 27 Ave, ROW on west side of NE 27 Ave from NE 56 Ct to NE 59 St, ROW on north side of NE 59 St to NE 28 Ave, ROW on west side of NE 28 Ave from NE 59 St - NE 60 St	21	Service	\$60. <sup>4</sup> 2	\$ 1, 260.00
46	Hedge trim Item 45 – Hedge is to be maintained at height of wall	9	Service	\$75.00	\$675.50
47	Sunrise Blvd. From Andrews Ave. to Middle River Bridge	26	Service	\$225*	\$675 <sup>.20</sup> \$5,850 <sup>.06</sup>

 •

•

48	Sunrise Blvd From Middle River Bridge to A1A – includes medians, swales on north and south side and ROW triangles on NW and SW corners of A1A & Sunrise	26	Service	4-200	
49	Hedge trim Item 48	9	Service	\$15.00	\$ 135.00
.50	Seven Isle at Desoto Dr., median/ROW & pump station swale on west side – Barcelona Dr./NE 3rd Street & DeSoto Dr.	21	Service	\$25-62	e 1
51	NE 16 Terrace cul-de-sac, behind wall at 1624 E. Sunrise Blvd – Sunrise Blvd and NE 9 St	21	Service	-0	-0-
52	Terramar from A1A to Birch Road (center median)	21	Service	\$30.00	\$ 630.00
53	Hedge trim Item 52	9	Service	\$50.00	\$450.00
54	Vistamar from A1A to Birch Road (center median) – Hedge Trim only	9	Service	\$29.00	\$ 261.50
55	Breakers Avenue from Vistamar to Riomar (center median) – Hedge Trim only	9	Service	\$69.00	\$621.8
56	Cortez passive park (between Seabreeze and Birch from Cortez Street north to across from 109 Birch Ave.)	21	Service	\$59.60	\$1,239
57	Hedge trim Item 56	9	Service	\$25.00	\$ 225.2
58	Sebastian West - Seabreeze and Sebastian Street –outside perimeter of lot and all shrubs inside lot. Hedge trim	9	Service	\$75.40	\$675.00
59	Sebastian East - A1A and Sebastian Street - Hedge trim (price shall include small grass section at north end of lot)	9	Service	\$25°	\$225.00
60	ROW at Seabreeze and Alhambra (across from Casablanca Restaurant) – Hedge Trim	9	Service	\$15.00	¢13.5 · ···
61	ROW at Seabreeze and Sebastian St. – Hedge trim	9	Service	\$25.00	\$275 .00
62	NE 16 Terrace cul-de-sac, behind wall at 1624 E. Sunrise Blvd – Sunrise Blvd and NE 9 St	21	Service	-0-	-0-
63	Middle River Dr & Coral Ridge Dr., Triangle at 1840 Middle River Dr	21	Service	\$10.2	\$ 210.00
64	Bal Harbour Entranceway, ROWs - NE 19 St at NE 22 Ave	21	Service	\$ [ 0.00	\$ 210.00
65	Bal Harbour west swale area of NE 22 Ave from NE 19 St to NE 15 Court	21	Service	\$ 80.00	\$ 1,686.00
66	NE 20 Ave., circle at 5251 NE 20 Ave – NE 53 St at NE 20 Ave	21	Service	\$20.00	\$420.00
67	Flagler Drive, between Sunrise Blvd and Andrews Ave swales on east and west side of roadway	21	Service	2000	
68	Hedge trim Item 67(includes swales on east and west side of road and all hedges up to fence on east side of railroad tracks)	9	Service	\$250°	\$ 2, 250.00

in which is the state of the state of the state of the state

4

69	Pump Station A21, 630 NE 2nd Ave	21	Service	\$ 20 2	\$420.00
70	Old City Hall Annex Bulidng, 300 NW 1 Ave (entire property from Andrews Ave to NW 1 Ave between NW 2 St and NW 4 St) - Hedge trim ADDED	9	Service	\$ 200.00	\$1,866.0 <u>0</u>
71	Andrews Ave medians (3 medians north of N 62 St to McNab Rd) – Mow and weed	21	Service	\$225-0	\$4,725.00
72	Palm Aire West. Hedges along the wall. (starting just north of NW 69 court, south to NW 62nd Street on NW 31Ave.) and from (NW 31 Ave. west to NW 34 Ave. on NW 62nd Street) HEDGE TRIM 9 Services	9	Service	¢:528.5	s13,150.99

Submitted by:

Clinton Whaley Name (printed)

1/16/17

Date

Signature President Title

and the sector for any former

## ADDITIONAL SERVICE ITEMS

(You must provide a quote for each item listed below): (See Section 1.22 Additional Services) Failure to provide information may result in your bid being declared non-responsive. **TM = time and material** 

- 1. Price per acre for any additional service to existing locations as determined by the City.  $\sqrt{\frac{1}{25}}$  /acre – include TM
- 2. Price per acre for any new location added.

#25 /acre – include TM

- 3. Price per acre for any on call (one time) service.  $\frac{1}{125}$  /acre – include TM
- 4. Price per linear foot for hedge trimming added to contract  $\frac{1}{1000}$  /linear foot include TM
- 5. Price per yard for removal and dumping of storm damage and debris. Provide TM (time & material) rate for removal of limbs or bulk trash items. Hauling and Disposal (receipt from certified landfill must be submitted):

19 25 /yard, removal and dumping - include TM

 $b^{(50)}$ /yard, hauling only (City to provide dump site) – include TM

6. Price per square foot for mulching of plant beds  $\sqrt{125}$  /square foot – include TM

# QUESTIONNAIRE

1. Have you or an authorized member of your company inspected the areas under consideration for award of contract prior to submitting this bid proposal?

Yes No

2. Provide three references (not relatives), preferably other governmental entities, for which you have performed similar work. See Eligibility requirements, Section 1.05.

Failure to provide references may result in your bid being declared nonresponsive. These references may be contacted. If the City cannot locate any of these references, your bid may be declared non-responsive.

- 3. Number of years' experience this company has been in operation providing similar services:  $\frac{115}{115}$  years
- 4. Describe the most recent project of this nature you have completed:

5. Please indicate the number of employees available to perform the requirements of this contract:

6 Workers and 2 Supervisors

6. Have you ever failed to complete work awarded to you? If so, where and why?



7. How soon after award can you begin work?  $10^{-10}$  days

8. List any licenses, permits or certifications, etc., you hold for performing this type of work:

9. Do you have the required insurances and will you furnish an original certificate with the City named as additionally insured prior to the commencement of work?

General Liability	Ves F	no
Auto Liability	Wes F	no
Worker's Compensation	ves r	no

 A general listing of currently owned and operated equipment that would be utilized in fulfilling the requirements of this contract should be provided. Include make, model and year of manufacture.

Have you included a list of currently owned and operated equipment?

Γ<sub>yes</sub> Γ<sub>no</sub> 2006 Izuz Dump Truck 1996 Chury Dump Touck (2) Enclosed Traillors (4) 60" Rider mouns (10) weedeaters (1) Edgers.
(4) Edgers.
(4) Hedge Thimmers
(6) BACK Pack Blowers
(1) Push Blower
(2) Back Pack Sprayers

#### City of Fort Lauderdale

### **BID/PROPOSAL CERTIFICATION**

<u>Please Note:</u> If responding to this solicitation through BidSync, the electronic version of the bid response will prevail, unless a paper version is clearly marked **by the bidder** in some manner to indicate that it will supplant the electronic version. All fields below must be completed. If the field does not apply to you, please note N/A in that field.

If you are a foreign corporation, you may be required to obtain a certificate of authority from the department of state, in accordance with Florida Statute §607.1501 (visit http://www.dos.state.fl.us/).

Company: (Lega	al Registration)	CSM Land	scapting IA	L.		
Address: 154	NN R	12th TPR				
City: PT-U	A chudak		State: P	Zip:	33311	
Telephone No. (	54471-8205	FAX No. 954 769 -1	773 Email: <u>cc</u>	indm land	scaping Fre	6 gma. I. com
		pt of Purchase Order (s f General Conditions):		al Conditior	is): <u>1</u> 0	*****
Does your firm q	ualify for MBE or V	VBE status (section 1.0	9 of General Conditi	ons):		NBE
ADDENDUM AC		<u>NT</u> - Proposer acknow	ledges that the followi	ng addenda	have been rec	eived and are
Addendum No.	Date Issued	Addendum No.	Date Issued A	ddendum No	o. Date Issue	<u>&gt;d</u>

<u>VARIANCES</u>: If you take exception or have variances to any term, condition, specification, scope of service, or requirement in this competitive solicitation you must specify such exception or variance in the space provided below or reference in the space provided below all variances contained on other pages within your response. Additional pages may be attached if necessary. No exceptions or variances will be deemed to be part of the response submitted unless such is listed and contained in the space provided below. The City does not, by virtue of submitting a variance, necessarily accept any variances. If no statement is contained in the below space, it is hereby implied that your response is in full compliance with this competitive solicitation. If you do not have variances, simply mark N/A. If submitting your response electronically through BIDSYNC you must also click the "Take Exception" button.

None

The below signatory hereby agrees to furnish the following article(s) or services at the price(s) and terms stated subject to all instructions, conditions, specifications addenda, legal advertisement, and conditions contained in the bid/proposal. I have read all attachments including the specifications and fully understand what is required. By submitting this signed proposal I will accept a contract if approved by the City and such acceptance covers all terms, conditions, and specifications of this bid/proposal. The below signatory also hereby agrees, by virtue of submitting or attempting to submit a response, that in no event shall the City's liability for respondent's direct, indirect, incidental, consequential, special or exemplary damages, expenses, or lost profits arising out of this competitive solicitation process, including but not limited to public advertisement, bid conferences, site visits, evaluations, oral presentations, or award proceedings exceed the amount of Five Hundred Dollars (\$500.00). This limitation shall not apply to claims arising under any provision of indemnification or the City's protest ordinance contained in this competitive solicitation.

Submitted by:

2

1113/17

Misston whater Name (printed) 1/16/17

Date:

revised 04/10/15

 $\frac{\text{pot-pl}}{\text{Signature}}$   $\frac{\text{presdut}}{\text{Title}}$